RHSEE
At AELEEAEHFEE—RIAHMEFRE(E15)



RHSFEERILALEHBUEFES —RIFAFEFTE(EE1S)

FHSEERLALEEAEFESO—REIFAFMEFE(E1BRXRICEDDECAHIZESD,

(MAREFEDHHIE)

E1EX BEOBRAREFEOMRBICRAREENEN 9, O0O0OFHZEML. RARE FENRBEERAREENEN 246, 510FH
ET %,

2 BABRHFPEOHENKREDRANBLIVEZRRACLOEELVIHERDOBRABSEPENORAFIFEIR BAREFEMEICELS,

THM5E8H22A & H
Bt A LEEEBES
EHE B X 5 M

TH5E8H22H ® R
At A LEEAEHEGESR

R BB % %



FT1R BAREBFTEGEILE
mA (Bfr:FH)
EIN ] BXE &8 fHIEZE Hil
1 HHEERUVEEE 177,826 A8 177,818
1 8% 177,826 A8 177,818
4 BEXHE 40,268 1,412 41,680
1 EGiEE 37,800 1,412 39,212
3 BEEXHRE 2,468 0 2,468
5 BAEIRA 891 0 891
1 BAEERIRA 1 0 1
2 BAEFEIARA 890 0 890
=1 ES 1 0 1
= ES 1 0 1
7 BAE 15,000 0 15,000
1 EEEAE 15,000 0 15,000
8 & 100 7,596 7,696
1 f&ME 100 7,596 7,696
9 FULA 3,424 0 3,424
1 FEEFF 1 0 1
2 ZHEEZFEIRA 3,183 0 3,183
3 A 240 0 240
% = it 237,510 9,000 246,510
fAan, (Bfr:FH)
3 ] BXEZE fHIEZE Hil
1 BRE 741 0 741
1 BT 741 0 741
2 BHE 5,346 5,256 10,602
1 BIEEHE 5,245 5,256 10,501
2 BEEFXEE 101 0 101
3 R&E 231,023 3,744 234,767
1 HEEUE 13,459 201 13,660
2 REEUE 217,564 3,543 221,107
5 FlE& 400 0 400
1 FliEE 400 0 400
% = it 237,510 9,000 246,510




mARHMHIE T EEERAME

(WmA)
(B FH)
N BX %€ 28 FEIE%E 5 =
1 SHEERUVEEE 177,826 A 8 177,818
4 BEXHE 40,268 1,412 41,680
5 BAEEIRA 891 0 891
6 EFHhtE 1 0 1
7 BAE 15,000 0 15,000
8 & 100 7,596 7,696
9 FEUXA 3,424 0 3,424
m A & &t 237,510 9,000 246,510
(medd)
(B FH)
) T A iR
E2 BIE%E | fHIEZE Hi B & B R =
EEXHE| HAE [ 2D
1 BRE 741 0 741
2 BixE 5,346 5,256] 10,602
3 R4E 231,023 3,744 234,767 1,333
5 FiEE 400 0 400
B B & &t 237,510 9,000| 246,510 1,333




2 ®mA
F1X HEERUVEEE

F£118 8iEf - (B FH)
= % = B
= BIE%E | fHIE%E it X 7 = % & =
1 REEZEGES 177,826 A 8| 177818|3 REEUEAIES A 8|4 NEMBHNEEHAFTY—ERB)FHE
BHEEFEMEE S A
EERAFMGMESEIRAEAIBEFMN
o AN A4
EEREATE (REREXIERHAE)
FIAE AL EMRHY AT
EEREMGMNE (KERBRETAYU—EXRRR
T8)F AE 8B EHMEHS AT
A —BXESEMNAETESEESFHME
5 A1
i 177,826 A 8| 177818




FAR BXH®

F118 EEEE (B FH)
g T4 | WEAE | % — — # %

1 REEBRAESE 37,800 1412 39212(1 RERUEBEESHES 141211 [EERERBESE 1,412
-ERE 1,276
HBEE 30
EREBE 100
IR — BN E 6

i 37,800 1,412] 39,212




F8mk MRHE
(B FH)

F1I8 s -
= Pt = B
E EEE%E *ﬁIEﬁ.E A IZ ﬁj\ % gﬁ ﬁfﬂ!: %—
1 #BHE 100 7,596 7,696|1 fEHE 7596 |RIEE LY DG E 7,596

H 100 7,596 7,696




3 mH
(A1)

F2 BHEE
F11E BRIEEEE
# ;ﬁ i3 ﬂ#ﬁ}r;ﬁ D A R il "
B BIEXE | tH1E5E 5 ¥ & 8 R P N N E: BA
EEXEE| AR | Z0OM RBHRE| B & £ %
24 HBGEAREERIE 5,256
5,256 |fEIL & 5,256

1
— AR EIE 5,245 5,256 10,501

5,256

&t 5,245 5,256 10,501

pall]



E3X REE

FE1IH HEBUE (B4 FH)
gﬁ&z%ﬁﬁwlﬂﬁi il .
B BIEZE | tH1EZE B : EF B IR  ALEF? N\ = ) B
EEXES| AR | Z0M RBHRE| B & £ %
2 4 -ERETHABEXEESRES 101
HEEE| 12974 201| 13,175 201|#FHE 151 |-t RERERH 42
EEEE -5 KRR 2
& -ERRERH 6
8 SN FEETRABEERAE 50
k& 50

&t 12,974 201 13,175 201

pall]




E3X REE

F218 RERUE (B F1)
" # ;ﬁ 1E E!#E#;’H D A R il
B BXEZE 1IE%8 : ¥ & B R  ARE4S 2N " B )3
1 4 AN BFEKEMERSEES 8
IRERA| 235810 2,101 25,911 2,101|&%F & 8
wiggE 10 1 HERE 312
ERE 1873|6 E#EH 1,561
12 -ERERBRIEERER 55
EREER 55
18 -EZETEABERBFLUESAES
=Eik N 165
HEIRD
Xt 165
2 2 ‘BE A 1,352
IRE{EAL| 128,858 1,250/ 130,108 1,333 A 83|#5% |- £t FEEFRBER 1,352
Mk E 3 1 BEFY A 61
BEFH EEF L A 79
=2 A 61| HHREBEFY A 14
HARFY A 64
S EEFRBEEHTY 18
S EETRBEYRFY 64
R EETABESERSET Y
14
4 - EHFETETAERE X ZEEAaEE A 328
HEE A 40[- S REH 288
-FKERER A 14
-ERRER 14
8 S EETABEERAE 18
RE 18
10 1 HERE 221
ERE 747|7 BERMEE 526
12 -AFTREMMI)—=2T F5EH 18
EREEH 18
17 -HDDLO—% — 69
EmEBA EFRZERE R 363
& 432




E3X REE

F218 REBUE (B FH)
; ;ﬁ 1F El\a‘ﬂ#;ﬁ N N iR ]
B BXZE%E | #HIE%E H ¥ B B  ARE+ 28 " B )3
19 -HEE 30
KB E 136" FRHERE 100
-HIR— BB E 6
3 4 -EHETEMEBE X FEEREES 83
FEEIR4E| 22,009 83| 22,092 83| HiFE 83
RXIEE
3
4 3 1 BEFY 61
PEERE 42887 109 42,996 1098 & F 2 R EEERABEBHFY 61
FTXiEE % 61
xE 4 - EHFETETMEE R ZEEAaEE A 335
HEE A 194 - S REH 161
- AR IE R A 10
-ERRER A 10
17 KM EEERYMIEEE 242
EmEEA
& 242
&t 217,564 3,543 221,107 1,333 2,210

10



w58 8083

1 %556
(Bfsr:FH)
X o) mAH 2 = E A %ﬁwﬂt EE&E| & F|E &
X 7] Ay s | =@ aJe | 7= ;T-| = 7 5 =] E 5]
) mw OB | A |HRFLHAEFL = ul|E 5
E = 2 72 72 2 74
B B8 14 504 504 13 517
rEE %“%ﬁﬂﬂ?&? 15 1,307 1,307 10 1,317
K 31 1,883 1,883 25 1,908
E = 2 72 72 2 74
= B B8 14 504 504 13 517
il & & %ﬁ}ﬂﬂ(g 15| 1,307 1,307 10| 1317
K 31 1,883 1,883 25 1,908
E = 0 0 0 0 0
. & B 0 0 0 0 0
t B %ﬁ}ﬂﬂ(g 0 0 0 0 0
B 0 0 0 0 0

11



2 —AREs;

(1) ##E
AR = = = (B FH)
VAN E e Hs A
% 5 O FH W | & B BEFL] 5 | ook | & i i
B 32 ol 97,093 45604 142,697 28,960| 171657724/ LA EEREABEINETED,
(8)] (10,983) (0)] (1,575)] (12,558) (826)] (13,233)|[/S—ro2A LEEHEEEABESA
SR 31 o| 97,093 45604 142,697 29,111| 171,808|7/L 584 LEHEEFERABESANTED,
(8)] (10,983) (0)] (1,575)] (12,558) (675)] (13,233)[/S—roA LEEHEEERABESA
[ 1 0 0 0 of A 151 A 151
- (0) (0) 0 (0) O]  das]  as
X )AIEN—FALESTHEETABEICDOVTHEZLI=LD,
X 4 EHR I EEFLHENFL(EERFE| B RN |REFL|E B BE|HAXRFLH(HUMFL|(E 5 i
F 5 §IEFL F 5 F =
BEFH BES 288 2,124 3,119 589 630 1,140 25| 20,324 13,834 1,488
(1,575)
D N ER EERT 288 2,124 3,119 589 630 1,140 25| 20,324 13,834 1,488
(1,575)
b s 0 0 0 0 0 0 0 (0(; 0 0
X )AIEN—FELA LESTHEEXTABEICDOVTHEZLIZLD,
REBNE| B HEE S | AR EF
= ENRES Hi & =
F S| F B F =B
1,301 4 738| 45,604
(1,575)
1,301 4 738| 45,604
(1,575)
0 0 0 0
(0)

X )REFN—FALSFEEERABAICOVTHESLELD,

12



(2) HEHRUVEETFLOEREDHM

(BT FH)
%

X 4| #EEEE g E A Al AR B BH s
BERAZEIZHEIR A 1,352
SHEETABEHOEIZ#S1E
1,352
A # 0| ZF DD 5
BENF L DR A 79
BSEHEFLORE A 14
HRF L DR A 64
R - SHEEARABEEHFLUDE 79
BRFS O PO 2R ABARRIBT H0H
14
SHEETAREHRTFLUDIE 64
(3) HHERUBEFIHDINR
7 BE1ANYYKRE (BifHz: M)
X o — A% 1T B BREH 75 ek s =
EHkeFri A (M) 296,329 322,150
SHMS5E481HRAE EHES5HE (H) 318,052 348,950
) 5 (%) 4078 51m%0H
EHkeFri A (M) 289,543 318,900
MaFE4B1HRAE EWE5HE (H) 314,243 346,450
) F 5 (%) 9% 782 50708
14 #E#E
= = J___(iﬁ"L:F':J)
An4= 3 Lif, 2L, T 3 0) I E
X 53\ EXTTE&% ;ﬁﬁgﬂ T%Hﬁ — &fﬁ'f,&ﬂ%ﬁ *iﬁg.%q%ﬂ%ﬁ
25 & ZF 154,600 151,900 154,600 151,900
B K ZE 167,100 167,100
X F ZE 185,200 185,200

13



AR ¥l A=k

7 & EHON BRE (%) & BER (N BRE (%)
6 & 1 4.76
5 & 0.00 5 #k 1 50.00
4 %R 8 38.10 4 R 1 50.00
SHSE4RA1HRE 3 & 5 23.81 3 #&
2 & 5 23.81 2
1 & 2 9.52 1 &
B 21 100.00 £t 2 100.00
6 & 1 4.76
5 & 0.00 5 #k 1 50.00
4 %R 8 38.10 4 R 1 50.00
SHM4F481HERE 3 #k 2 9.52 3 #k
2 & 8 38.10 2
1 & 2 9.52 1 &
B 21 100.00 £t 2 100.00
($R B DIZEMTIEIFAR)
E$ 6k 5%k 4%k 3k 24k 1§k
TEE | BER B [BE#@E &E FE ¥=E




VAN AN =
= 7 A ; T T
B S 2 (A) (AN) 23 21 2
SRR EBEHB) (AN) 23 21 2
-y
= 2545 4 4
AEE | semunR 3EH (A)
4548 (A) 19 17 2
=ia @N)
tb3 (B)/(A) (%) 100.00% 100.00% 100.00%
BB 2 (A) (AN) 23 21 2
FHICERLEBEH(B) (AN) 23 21 2
154 (AN)
B . i 2518 (A) 4 4 1
= | ERREARNR 35 (N) 1 1
454 oN) 18 16 2
i (A)
tbE (B)/(A) (%) 100.00% 100.00% 100.00%
F BXRFLH-HUMFY
AR ZEE (TR EH s e R o
K %[ 68 | 128 ﬁkgﬂfg;f%a‘%%m&#" & %
(B4 | (A% | (A& °E
AEE| 2125 2.125 4.250 |6#%15% B5fk-4#k10% 3#5%
Bl EE| 2150 2.100 4.250 |6#%15% B5#k-4#k10% 3#k5%
ED&IE] 2200 2.250 4.450 g

15



h EFRBEVRHERBICHRIBRBFS

20 %) | 255 | 355 |[RERE
X D OB |HROEB|(RDOE ZTOMOMEEES &
(B | (As) | (AH) [ (AS)
-EEATRERBARGEE
TIAERE 24586875 | 33.27075| 47.709 | 47.709 (2% ~45%IN%E)
-BEFE DRI U528
E 041 -EEATRERBEGEE
(ﬁbﬁg) 24586875 | 33.27075| 47.709 | 47.709 (2% ~45%IN%E)
b IS DRI C-FRA%EEE
* BHREBEFY
. MENSIEA TR
= a = B =® — RESEE
REHREEICR T AEE (%) 0.76% 0.74% 0.02%
TR RBEDLLE (%) 80.65% 77.42% 3.23%
(£F5%F4H1H)
HEEUEFRTFY | HESEUERFL | HSEUERTTY
J ZR/MOFY
X o ENHIELNDEE FEEIDECES
KEEFZ EERL
T EF S EERL
& ¥ F Z EERL




